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QUESTION 1

A WS-Policy definition can be attached to different parts of a __________________ or to multiple
__________________. Select the correct answer. 

A. service activity, service activities 

B. service contract, service contracts 

C. service model, service models 

D. service line, service lines 

Correct Answer: B 

 

QUESTION 2

Which of the following statements makes sense? Select the correct answer. 

A. I have 3 REST services, 2 of which do not support the PUT method. 

B. I have 3 REST services, 2 of which have a PUT operation in the SOAP header schemas of their WSDL definitions. 

C. I have 3 REST services, 2 of which do not support HTTP. 

D. None of these statements make sense. 

Correct Answer: A 

 

QUESTION 3

Which of the following can be part of technical service contract? Select the correct answer. 

A. WSDL operation 

B. component method 

C. HTTP method 

D. Each of the above can be part of a technical service contract, depending on which technology platform is chosen to
build the service. 

Correct Answer: D 

 

QUESTION 4

Which of the following technologies can be used to establish a federated data architecture capable of exposing
standardized data models while abstracting disparate data sources? Select the correct answer. 
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A. XML Schema 

B. XQuery 

C. WS-BPEL 

D. WS-Federation 

Correct Answer: A 

 

QUESTION 5

Which of the following statements is true? Select the correct answer. 

A. WS-Coordination establishes a base coordination framework for which WS-Addressing and WS-Routing provide
additional protocols and rules. 

B. WS-Coordination establishes a base coordination framework for which XML Schema and WS-Addressing provide
additional protocols and rules. 

C. WS-Coordination establishes a base coordination framework for which WS-AtomicTransaction and WS-
BusinessActivity provide additional protocols and rules. 

D. WS-Coordination does not establish a base coordination framework. The name of the specification is deceiving as it
actually defines a series of generic routing protocols. 

Correct Answer: C 
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